+3,0EN ¥XX SUM-VADERS Copyrignt John Wrigh
t 1985 xx

10’ GosuE 2000

15 GOSUB 250

20 GOSUB 1000:GOSUB B00:score=0:1ives=5:lev
el=1

30 GOSUB 00:GOSUE 920:GOSUB $30:GOSUB 940
50 60TO 200

100" AFTER 800 gosUB £60s L
105 CLS #31 £=0; xm

WHILE INK Evv. B
118 ol WHILE
115 a L

LOCATE #3,2, 1:FRIN
WEND

£ i e
120 1F =1 THEN 158

2 a$=INKEY$: WEN

R ez TN for 50T
135 IF x=127 AN
60TO 150

THEN b$=LEFTS (bS,y-1)1
140 IF y=tyme THEN §=1:60T0 155

135 THEN bs=bs+as

LOCATE #3,2,1:PRINT #Z,bs
155 WEND:RETURN

160 =1:

165 SOUND 3,800, 20, 6:SOUND 3, 1800, 65, 6:FOR
$%=1_TO 2000:NEXT 1%:RETURN

170 FOR 3%=4 TO 200 STEP 2:SOUND 1,3%,1,5:N
EXT:RETURN
175

OUND 2,50,20,3:SOUND 2,70, 30, 3:RETURN



180 LOCATE #2,1,3:PAPER #2,3:PRINT #2,SPACE
$(20) s RETURN
190 LOCATE #2,1,6:FAPER #2,3:PRINT #2,SPACE
$(20) :RETURN
200 WHILE 1ives>0 AND 1evel<7
210 WHILE inv>0 AND 1ives>0
220 WHILE laser<il AND 1ives>o
240 ON level GOSUB 700,710,720,730,740,750
250 GOSUB 180:LOCATE 42,3, SIPEN #2,11PRINT
#2,"Try this one"
265 GOSUB  170; #<INT (LEN (nane®) /2) s LOCATE #2
L 11-x,6:PEN #2,2:PRINT #2,nane:

LOCATE #2,4,9:FEN #2,0:FRINT #2, USING
“##4";c:LOCATE #2,8,9:PRINT #2,x8
280 LOCATE #2,10, Q(PRINT 42, USING "##"3d:l
OSATE 42,13, 91PRINT #2
250 count=0 *
300 FEN #%,0:GOSUB 1001 1F g0 THEN
210 count=zount+1:GOSUB 170:GOSUB 150+ Locat

320 PRINT #2,"0ut of Time":FOR j%=1 TO 1500
$NEXT:GOTO 350

340 B=INT (VAL (b)) :b=ABS(b): IF b=e THEN 400
THEN 360 ELSE GOSUE 180:LOCA
FEN #2,1

S PRINT #2,"Secand Try

GOSUB 145:60TO 30

500 Rosstiecin0eUE 4A0/IOCATE #2,5, SIFEN @
NT #2, "Hard Luck"
170 Uoeate #2,2, 6:PRINT #2, "CORRECT ANSWER

3% B2 AStocaTE S 2, 1
110
390 GOSUE 9a01FOR.

ERINTAS; s PO i

1
%1 10 2000:NEXT:GOTO 41

IF count=1 THEN scoresscore+i
o+

405 GOSUR 9201 GOSUE 930:FOR 3ti=1 TO 2000:NE
XT

410°CLS #2:CLS #3:WEND
420 IF lives=0 THEN 570

430 BORDER 6,24:FOR %=1 TO 6:SOUND 1,90,10
451 SOUND 1,110, 10,5:NEXT *

440 LOCATE 42,3, €1PEN #2, 11PRINT 42, PAESS
SPACE BAR"

350 TF invs1 THEN fire=s ELSE Fir

20 WMILE TNKEY(47) =1 WEND: SOLND 3,150,10,
7,0,0,10

470FOR j2=13 10 fire STEP ~1:LOCATE #1,qun
L 3%PEN #1,2:PRINT #1,CHRS (14

480 FOR 1=1 TO 75xNEXYxLDEATE “l,uun.)/lPAP
ER #1,0:PRINT #1," ":NEXT

4%0 Fbe y1=2000 0 200 STEF “2%:S0UND 5, RND
1312, 517200, 0,0, S/ 100: NEXT

500 CORATE WioGunot fire-25PAFER 41,08 PRINT
1,7 NSLOCATE Wi, gun-1,fire-1

S10'PRINT #1,"  *:LOCATE #1,gun, 14:PAFER #
1,0:FRINT #1,% »

520 {nvelnv-{11F dnv= THEN 550

530 IF inv=1l THEN gun=

536 1F invah THeN Sune

550 GOSUB 870 0: score=scores10:GOSUR 920:1ase
=1:LOCATE #0. 1.
Too FRINT W0, aFAcEs (113 +B0508 930

570 CLS #2:WEND

S80 IF 1ives=0 THEN 10

590 level=level+1:IF level=7 THEN 610

500 GOSUB 900:CLS #1:GOSUB 800

610 WEND

£20 GOTO 4000

700 c=INT(RND (1) $15) +1: d=INT(RND (1) ¥15) +1:@
=c+d 1 K $=CHRE (159) : RE

710 C=INTIRND (1) $15) HOE=INT (RND (1) 4e) o118
=CHR® (154) RETURN
750" EAINTIRND (12 1201 #11c=INT (RND (1) 450) +15
poset BTl oy




INT(RND(1) #c) +1:e

=INT(RND (1) %12) +1:e

7 Uk
800 LOCATE #1,4,2:FBN #1,11:PRINT #1,CHRS (2
08)4CHRS (224) #CHES (205)
810 LOCATE #1, EN #1,9:PRINT #1,CHR$ (22
) SCHRS (2672 +CHRks (220)
820 LOCATE #1,2,6:FEN #1,12:FRINT #1,CHRS (2
04) 4CHRS (224) +CHRS (205)
830 LOCATE #1, =
e A e
BAO LOCATE #1,4,6:FEN #1,12:PRINT #1,CHRS (2
04) +CHRS (224) +CHRS (208)
BSO LOCATE #1,4,7:FEN #1,10:FRINT #1,CHRS(2
21):CHRY (2071 4CHRR(220)

PRINT #1,CHRS (2

a1,

aser
DCATE. 81, gun. 13:FEN #1,2:FRINT #1,CHRS

B
(239) 1 RETURN
900 LOCATE 1,14:FAFER 4:PRINT SPACES(10):L0

910 PAPER 0:FEN 2:FPRINT ranks(level):RETURN
920IL0CATE K5;7, 61PN 0:PAPER 4:FRINT score

556 Lotare S0 TAsdr S POl 21RARER. §:PRINTIR
owers$:1as: r+21 RETURN

930 LOCATE W07, 91FEN 01PAPER 4:FRINT 1ives
+RETURN

1000 MODE 0:BORDER 1:CLS:RANDOMIZE TIME
1010/ TNK (0, 01 TNK 1,21 INK 2, 61 INK 3,131 INK 4

1520 (IR 2T o2k st 11,1824 10

12,2,
16367 WINDO 00,1, 11,1, 14sWINDOW #1,12,20,1,
141uINDOH 43, 13, 20,23, 23
1040 PAPER #0,4:CLS #0:PAPER #1,0:CLS #1
1050 Wikbow 42,1, zo 15,25:PAPER W2, 31018 82
1060 PAPER #3,%: 6L
1070 LOCATE #0,1, T3PEN 2:PAPER O:FRINT #o, "
LASER POUI
1080 FEN O:PAPER 4:LOCATE #0,1,6:PRINT #0,"
SCORE=
1030 LOCATE 190, 1,91 PRINT 40, “LIVES

#0,1,12:PRINT #0,
1105 LOGATE. 0, 1, 12: PRINT WO, "RANKING": RETU

LocATE

RN
2000 IDIiiean s 1) BEERD NGB0 201 fEBToERS

2010 FOR 5=1 O &:FEAD K (5)=as:NEXT
2030 DATA Cadet,Corporal,Sergeant, Cantain,tt
ajor, Genera

2080 Power $=CHRS (154) +CHRS (154) +CHRS (243) :b
=75 high=0: RETURN

2500 MODE. 11CALL tBCO2:CALL YEBAE

2510 BORDER O:INK 0,0:INK 1,0:INK 2,2:INK 3
,24:GOSUB 3000

2320 FOR {%e2 T 24 STEP 2(S0UND 3,1%810,20
+5:SOUND 3,1%$20, 10

2530 INK 2, Pl 3,i%:FOR %=1 TO 500:N

2540 S0UND 3,600, 60, S:MINDQH #3,12,29,20,20

:PAPER #3,0:CLS #

2550 LOCATE #0,9, TS1PEN SIFRINT Please tvp
in your name"

2560 type=15:PEN #3,2:GOSUE 105

2565 IF LEN(b$)=0 THEN SOSUBTasBaTa 2860

2570 IF y<type THEN GOTO 260

2550 (0 elas soatied lexLuI:RYE #3,3, 11PRINT #

3, "Shorter ple.

2500 FoR 1721 10 2000t NEXT $%160TO 2560

2600 %=0:x=INSTR(b$," ")

2600 1F weo THEN nanessbs:GaTO 2630

2620 name$=LEFTS (b$,x)

2050 INCATERND 8,181 BRINT SPACES (26) :CLS #3

“+name$: x=INT (LEN (b$)

PEN 3:PRINT b$:SPEED

oK
a0



INK 30,30
2650, TC 1,0, £3L0OATE no 10,221 PEN 15 PRINT
R to p
2660 MHILE NREY (471 o
3000 PEN 1:LOCATE 1,25:PRINT
3010 FOR i7%=0 TO 160 STEP 2
3020 FOR j%=0 TO 16 STEP 2
3030 IF TEST(i%, % N PLOT 165+i7%%2,355+
%82, T:PLOT 165+1%82,357+5%42:PLOT 167+17%82
L35S+ %821 PLOT 167+i %82, 357+37%82
3080 NEXT j%:NEXT i%:LOCATE 1,25:FRINT SPAC
Es(18)

3050 PEN 1:LOCATE 1,25:FRINT "BY JOHN WRIGH

Y WENDs RETURN
"SUM-VADERS"

3060 FOR i%=0 TO 224 STEF 2
3070 FOR j%=0 TO 16 STEP 2
3080 IF TEST(i%,3%) THEN PLOT 100+i%32,300+
J%¥2,2:PLOT 100+17%82,302+1%82: PLOT 102+1%2
3300+ 3%82:PLOT_102+1%82, 302+ 3%82

3099 NEXT SAINEXT LX1LOCATE 1,25tPRINT SraC
E$(24) :FEN 21

5065 MODE 11EALL SBCO2:CALL UBBAE:h=0

4010 INK 0,1:INK 1,6:INK 2,11:INK 3,26
4020 PAFER 0:CLS:BORDER 14

4030 IF scorechigh THEN 4100

4080 high = score:best$=names:h=2:FOR %=1
TO 3:GOSUB 175:NEXT

4050 LOCATE 12,8:PEN 1:PRINT "A NEW HIGH SC

PRINT high:LOCATE 1

4
4060 LOCATE 18,12:PEN
6,16:PRINT "scored by’
4070 LOCATE 20-INT(LEN (basts3/2)20:CEN 24P
RINT best$:FOR %=1 TO B EXT




4100 CLS:IF level <7 THEN 4200
4110 FOR j%=200 TO 4 STEP-1:SOUND 2,
NEXT

4120 x$="Well done "+name$

1,5

2),5:PEN 2:PRINT

EN

Air Harshall“'LDChTE 18,22:PEN
INT "Press any

3160 WHILE TAREvR>

4200 CLS:IF h=2 THEN &

4210 GOSUB 170:LOCATE 20-INT (LEN(names) /2),

S:PEN 2:PRINT names

Az2o/fvonTedss NoTpiiy tscorad

4230 LEI:ATE 7,15:PEN 1:PRINT "The best so ¢

arois i

32407 LOBATE 20~ INT (LN (Bests) /2), 205 PEN 157

RINT bests:FOR 8000: NEXT

500,50, 5: LOCATE 5, 4:FEN 2

4310 PRINT "Do_you want to play again..Y/N"

4320 WHILE mvav«;mwenn.as-wwn_z as=
NKEVS

453017 OPPERS (as)=N" THEN CALL %0

4330 IF UPFERS (a$)="Y" THEN 4360

4350 GOTO 4320

4360 LOCATE 4,4:PEN 1:PRINT * Same p

En 815 epaces

4380 IF UPPERS(as$)="N" THEN 15
4390 IF UFPERS (a$)="Y" THEN 20
4800 GOTO 4370




